= AH O
N = 0 &8 AF S & Al A
20109 &= 20jlaF B3 =sX33 ~ sA33 Y
M S22
H: MEIXR 4
Rl = XAAY (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
=X32 11,463,311 12,323,104 N\859,793
= 2,625,247
z 396,073
< 1,497,333
= 6,944,658
MEIE 84 3,818,234 6,373,040 A2,554,806
= 1,521,366
= 396,073
< 374,288
iy 1,526,507
= ZAAY 128,752 246,929 N118,177
= 79,553
< 14,758
= 34,441
TEAS 128,752 246,929 N118,177
= 79,553
[==4 14,758
= 34,441
401 Al&HIZL =20 121,141 221,558 A 100,417
= 73,633
< 14,251
= 33,257
01 Al&H| 104,398 208,997 A 104,599
OXEAIH 104,398
OB H£=x2(63ha) 100,796
= 63,733
< 11,897
= 25,166
O2URZU XA (Tha) 3,602
< 1,081
= 2,521
02 Zeldl 14,143 9,561 4,582
XEAY 2224 (50ha) 14,143
= 9,900
< 1,273
= 2,970
03 A0 2,600 3,000 A400
OdH+=x™ 2,600
402 BIZHXHE0IE 7,611 25,371 A17,760
= 5,920
= 507
= 1,184
02 SIZ2+CHEH AL HI 7,611 25,371 A17,760
OSEEX X2 (3ha) 7,611
= 5,920
< 507
= 1,184




S HE e
HE: AN B4
=9 =l (9l & 2
_ _ _ MEc
SN CR(EH) - NRAY - BES 0il & o e BlnE2
£It30) 2,949,812 4,665,990 A1,716,178
2 1,311,363
= 281,878
2 1,356,571
MPBRE USI MY 851,000 1,831,850 980,850
203 YR EZH| 1,000 1,000 0
03 ABEXAREXY] 1,000 1,000 0
OMYBIAZOISI| AL ETY| 1,000
401 AIEHIL ST 50,000 50,000 0
01 Al&tt] 50,000 50,000 0
O A A& H b 50,000
OMYEAE AL 50,000
403 REXIEHH SXHE Ol H 800,000 1,000,000 200,000
02 ZIIZSHHEHS AL ] 800,000 1,000,000 200,000
OMYEH=OSIIALY 800,000
ATIRIHE £IHRI| ALY 318,347 142,490 175,857
2 193,888
= 37,337
2 87,122
101 @124 266,927 20,117 146,810
2 160, 156
= 32,031
2 74,740
04 JIAHZRNELS 266,927 20,117 146,810
OZRLRIIIRI| 22 12208, 404l
SE ) 266,927
2 160, 156
= 32,031
2 74,740
201 L2y 44,220 19, 133 25,087
2 26,532
= 5,306
2 12,382
01 ALl 44,220 19, 133 25,087
OZTI&EINPI 29| 44,220
2 26,532
= 5,306
2 12,38
301 st AS 7,200 3,240 3,960
2 7,200
12 JIEHB A2 7,200 3,240 3,960
OZIAEYIIRI| BRI 7,200
OZZHEINTI| REEAY) 7,200
2 7,200




SN SNBHD
Ha: MY S
SRl =R (&)
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
A E I A E 30,680 27,000 3,680
= 15,340
= 4,602
iy 10,738
402 BIZHXFE20|M 30,680 27,000 3,680
= 15,340
== 4,602
o 10,738
02 OIZ2HCHEH AF S HI 30,680 27,000 3,680
oA A A H & (2,600ha) 30,680
= 15,340
== 4,602
iy 10,738
= JIRIIAY 1,429,925 2,242,655 A812,730
= 907,339
== 202,420
iy 320, 166
401 AEHI Y2 1,429,925 2,242,655 A812,730
= 907,339
= 202,420
iy 320, 166
01 Al&H| 1,386,925 2,151,779 ANT64,854
O©= I+t J| A (800ha) 1,201,030
= 780,111
& 172,384
o 248,535
OXE Xl AFE 22| (500ha) 185,895
= 103,275
== 24,786
iy 57,834
02 Zcldl 40,000 85,000 N 45,000
O=2J+t32D| 2eldl(800ha) 40,000
= 22,273
= 4,920
iy 12,807
03 Al =20HbI 3,000 5,876 N2,876
O=JIRI| A& 3,000
= 1,680
= 330
iy 990
AIHIOI QA =EES 319,860 421,995 A 102,135
= 194,796
= 37,519
iy 87,545
101 el 24H| 266,927 372,365 105,438
= 160, 156
== 32,031
iy 74,740
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26,030
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8,444
1,688
3,940

MW

101 el H] 13,200 0 13,200
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53,008
6,626
6,626

O & 2 4=(6km) 27,000
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2,700
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8,475
2,543
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SN SXIAD
=L NI
ol UIIHFHI2S (eel: &
_ _ _ Muo
SA B RI(BH) - HRAY - BAS 0f - o i bl m =2
405 HaHE S| 16,000 0 16,000
2 8,000
= 2,400
2 5,600
01 Xtard 223 S| 16,000 0 16,000
048 X 8,000,000 *2CH 6,000
2 8,000
= 2,400
2 5,600
NUEASHEE L MHHEH 7,577,215 5,890,602 1,686,613
=2 1,103,881
= 1,123,045
2 5,350,289
ZEFY=NUEATTS 2,511,019 1,684,695 826,324
= 424,000
2 2,087,019
ZEDIHSN 2 ZHSBL 20,002 43,540 123,538
101 Q1214 14,042 0 14,042
04 JIZHIZNSES 14,042 0 14,042
OBERHESH +2A =22 (60FE) 14,042
osee 66,6202 +62 x35] 52 5,996
O0f Rl 44,7002 62 %35 «10% 8,046
201 Y2 ] 3,960 11,540 17,580
02 22| 3,960 3,540 420
OBEIESH MIIRB(Mel.8le. Ysie)
60,0002 374 £ * 122 2,160
OZEZHXZHE NI
40,0002 304 £+ 122 1,440
O4el HEP2ABH HIIRZ
30,0002 * 17§ 2122 360
206 M EH| 2,000 2,000 0
01 MZHl 2,000 2,000 0
OZERHESH PEDA 2,000
22 .2ex4 130,000 262,500 A 132,500
206 TH2HI 10,000 7,500 2,500
01 MZHl 10,000 7,500 2,500
OBSIG BAS REPQY 2,500 4,000 10,000
401 Al HIL 2O 120,000 255,000 A 135,000
01 A& 120,000 255,000 £135,000
OB3E HX(3MH2) 20,000,000 *23| 40,000
OB 2 X4 (40kn) 2,000, 000! *40km 80,000
=X FH el 380,017 284,989 95,028
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SN =XTHD
o NEEALSIEH L MYHRH
ool ZRAL=NUEAITE (9l @2
_ pSNE e
SH-EH . C(BH) - NRAY - BES Ao Gl o bRz
101 2124l 365,017 280,489 84,528
VIBSTEDTEESEERS 365,017 280,489 84,528
O=XTYIS SY(13%) 306,826
Oxeipry 105, 78021 +27 2112 %1% 31,417
Ooxeiole 85, 14021272 112102 252,866
ozsos 71,6202 %272 #1128 %28 42,543
OAEFH2 U 23 38,191
SELI-E 326,825, 0002 *4.50% 14,708
OEETE 306,825,0002! #2. 385% 7,79
OUMEEE 326,825, 00024 %3.50% 11,439
onse#z 326,825,000 *1.30% 4,249
201 2ere | 5,000 1,350 3,650
2 22| 5,000 1,350 3,650
oZHIRRH 1,60021+3, 125 ¢ 5,000
206 TWEHI 10,000 3,150 6.850
01 T2 10,000 3,150 6,850
OFHITY (ISP, DNHIISY, SS) 10,000
LIIHAT LA BB 5,000 5,000 0
401 AlZHIL 2O 5,000 5,000 0
01 Al 5,000 5,000 0
ORBIAT L ASB2 5,00021+1,0002 5,000
MEEH=SUAS 2R 291,000 272,666 18,334
= 84,000
2 207,000
101 2121t 100,000 100,000 0
= 30,000
2 70,000
04 JIAH22 RS2 S 100,000 100,000 0
OMEFH=S U ASRRIALY 100,000
= 30,000
= 70,000
203 PREWY] 1,000 1,000 0
CIREEEEE 1,000 1,000 0
O=XBY 2= 1,000
206 WEHI 10,000 5,000 5,000
01 T2l 10,000 5,000 5,000
CIFENEAVES 10,000
ouealR BAE B
10,0002 +1,000% 10,000
401 AIZHIL 2O 80,000 166,666 3,334
= 54,000
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S =SXZRAD
I NUEYSHBN L MHHBH
S9: ZEAY=NUEYIRE (Etel: &8
- = — N e
S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2
= 126,000
01 A& 180,000 166,666 13,334
OMEZH =3t U AZR2|(30AR) 180,000
= 54,000
= 126,000
CASNSERYEEAZARY 300,000 666,000 366,000
= 150,000
= 150,000
401 NEHIL 2] 300,000 666,000 366,000
= 150,000
= 150,000
01 A& 300,000 666,000 366,000
OZAENSCIZEELTAXY 300,000
= 150,000
= 150,000
SN RESHSSSAIY 85,000 150,000 65,000
= 40,000
= 45,000
201 ety 5,000 0 5,000
01 At el 5,000 0 5,000
OHELZS 5,000
O=RMa Ba2 ¢ HRE 5,000
401 N EHIL20Y] 80,000 150,000 A70,000
= 40,000
= 40,000
01 A& 80,000 150,000 AT0,000
OZAXNSNSEHES =AY (1H2) 80,000
= 40,000
= 40,000
AFBEIAIAL (HH) 150,000 0 150,000
= 150,000
401 NEHIL 2] 150,000 0 150,000
= 150,000
01 A& 150,000 0 150,000
033t Wi LY BAAEHZTY 50,000
= 50,000
0OnHE =92 HEHEA 40,000
= 40,000
ODSE NS0E HYEHZEH 30,000
= 30,000
O5tLH S30S HE XL 30,000
= 30,000
HE T LA A 1,000,000 0 1,000,000
402 QIEXHZO0IH 1,000,000 0 1,000,000




FA: sNSE L
M MEEUASHEN U MEHSH
&t FEJE=SANUERIARS (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 BIZFGEEXR 1,000,000 0 1,000,000
O&EHZHAY (B2AHE 208) 1,000,000
Ondsg d=s0t= 50,000,000& 1= 50,000
Oundg &d&0ts 50,000,000& *1= 50,000
Olnds dsits 50,000,000& x1= 50,000
Ot oS 50,000,000& 1= 50,000
Oardts ZX0tS 50,000,000& 1= 50,000
Ootgdd S2z0tS 50,000,000& 1= 50,000
Ostole sl it= 50,000,000& 1= 50,000
O&eld dEdts 50,000,000& *1= 50,000
O&fcld RE0IS 50,000,000& 1= 50,000
ot Rs0t= 50,000,000& 1= 50,000
Oged S8t 50,000,000& 1= 50,000
OgH AE0t= 50,000,000& 1= 50,000
OZH 2AH012 50,000,000& 1= 50,000
O =2&HOt= 50,000,000& x1= 50,000
oot Zators 50,000,000& 1= 50,000
O3lstd 2010tS 50,000,000& 1= 50,000
Ot xH02 50,000,000& 1= 50,000
Osolle L20t= 50,000,000& 1= 50,000
ONsH &sits 50,000,000& 1= 50,000
ONFH ES0t= 50,000,000& x1= 50,000
NZ2MFEA HEAY 50,000 0 50,000
401 Al&HI YL S OHYI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
o2+ EZ IS ALY (2km)
25,000,000 *2km 50,000
=25 14-3358EH IZ A= 2l ALY 100,000 0 100,000
401 A EHIZL 204 100,000 0 100,000
01 Al&HI 100,000 0 100,000
O=2Z14sdH AT 223 2401 4(
ol 500&) 100, 000& 500 50,000
O=EYH A=FHMHAIE AL (5km)
6,000, 000& *5km 30,000
OX =AUl L At=22|(20km)
1,000, 000& *20km 20,000
AR 22| 1,128 18,000 216,872
= 1,128
WAL s222 XA 1,128 0 1,128
= 1,128
202 O4dl 1,128 0 1,128
= 1,128




SN SN2
BH: NYEYSHEN L MEHRH
chol: X2l CEERE]
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES O] &b o4 Sl ko HRE2
01 WYl 1,128 0 1,128
OMA o s X (8H) 1,128
= 1,128
MEXE BE2tel 612,529 412,218 200,311
2 64,176
= 46,222
2 502, 131
XS ZHIALY 205,000 152,000 53,000
401 Al&HIL20HH 205,000 152,000 53,000
01 AlZHI 205,000 150,000 55,000
OF RS HIA (104 )
20,000,000 *109H 2~ 200,000
OUEHE 2B 5,000
BS+EHIAIY 54,610 48,404 6,206
= 7,610
= 47,000
401 Al&HIL 201 54,610 48,404 6,206
= 7,610
= 47,000
01 Al&H| 54,610 48,404 6,206
O &% FUlAIZ (102) 42,610
& 7,610
= 35,000
OEs+ CHHE HXI(15&) 800,000& »152 12,000
sS&E x4zl 342,919 211,814 131,105
= 64,176
= 38,612
i 240,131
101 el H] 9,000 9,000 0
04 JIZHMIZ2XSE =+ 9,000 9,000 0
ostzZ2 N=&d 60,0003 x5 *3H x 107 & 9,000
401 Al&HIL20HH) 333,919 202,814 131,105
= 64,176
& 38,612
2 231,131
01 A&t 333,919 202,814 31,105
OMEMHIA S&2 XM (7km) 213,919
= 64,176
= 38,612
= 111,131
Os&tz FUlAY 120,000
Og A S AR F Y] (6.4kn) 20,000
SHXTAFZ 2| At 10,000 0 10,000
401 A EHIL 204 10,000 0 10,000
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101 elHH| 31,500 25,200 6,300
04 JIZtMZ22XSE+ 31,500 25,200 6,300
OXALMIAX 22|
35,0003 2«90 A x50 31,500
201 B2 H| 10,000 1,000 9,000

_24_




SN
X{ ZH -
S Tt

oLk

22
J2

=1
R
121

10,000, 000& 14

10,000
10,000

1,000

490

980

A490

490

980

A 490

g 70,0003 *15|«7H

490
490

980

A490

U

752,311

416,155
336, 156

570,001

182,310

[l

il ]

U

37,056

18,528
18,528

40,596

A3,540

O

_|U

H O

=Rt

e o
oy

|
Y
o
H

o

fu

35,000 x2H »280

EURCH

35,0003 22 652 +50%

U

35,0003 x2H 64

EURY

26,355,000 *4.50%

Ml

26,355,000 *2.385%

EURGH

26,355,000 & *5.4%

Mk

26,355,000& *1.75%

M

70,0003 #4H x25

EURCH

37,056
37,056

19,600
9,800
9,800
2,275
1,138
1,137

,480

,240

,240

, 701

186
593
593
629
314
315
1,424
712
712
462
231
231
7,000
3,500
3,500

W DN

—

40,596

A3,540

Ml

30,655

15,327
15,328

13,540

29

120,000 3 A +12&

9,220
9,220

4,320

6,240

2,980

_25_




SN
X XH .
S Tt

oLk

00 o
MO &
ton
0l
pal
He
0z
fua}
X
T
r

0H 1z I
[0 U >
& 300 0p

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

2,160
2,160
OHA L AT 7Y 40,0002 +55 122 2,400
1,200
1,200
OBRIARA AREE 7 500,000 *55 2,500
1,250
1,250
Hl 21,435 10,875 10,560
U HA=SZ 21,435
Q2 600,0002 * 122! 7,200
3,600
3,600
OMYI| %A £42 150%100kg*3652 5,475
2,737
2,738
OQ+HRIANE HY =42 730,008 122 8,760
4,380
4,380

UL EURGH

U

N A

U

307 2120l & 9,600 9,600 0

4,800
4,800

Ml

05 2IIRAE S 9,600 9,600 0
OZ=3&A HAEZ 800,000& *3H A 43| 9,600

4,800

4,800

M H1

401 AIEHIZL 20U 675,000 502,690 172,310

377,500
297,500

EURGH

01 Al£Hl 670,000 497,690 172,310
O&AHEHbI 35,000
OSd 0ot SJAMY 2HES 30,000
15,000
15,000
OTgas& Y7 Otxl EHES 5,000
5,000
OSnL0t SAAL (S L0I2E /3 ) 530,000
265,000
265,000
Oxgsd Y+ Otxl &Xl 75,000
75,000
O=X& FHI(ZAHA & HEE=) 20,000
10,000
10,000
OANZ= Edl € 2+ 10,000
5,000
5,000

Mk

in

Ml 1

U H

U

_26_




2N =XBRD
M MNUEUSBEN L MEHBH
chel: ZoEe de
_ - Huc
FAH-FH-SASA) - NRAE - BE=Z Aol Ol Ak O Z
03 Al& =0t 5,000 5,000 0
OSYZAANY AL=0H 5,000
= 2,500
= 2,500
#™2AAY| 67,862 59,462 8,400
o2 (SXZ ) 3,000 3,000 0
o= 3,000 3,000 0
203 YR FAY| 3,000 3,000 0
04 BASYYRENY 3,000 3,000 0
ORNSYYR XY 250,0008! * 122 3,000
2 ZH(SUB2 D) 64,862 56,462 8,400
o1 44,520 36,120 8,400
202 01| 44,520 36,120 8,400
01 =LHoiHl 44,520 36,120 8,400
0JI2Y 2480t 200,0002! * 142 * 122 33,600
O=UEZOIHI 65,0002 14% + 122 10,920
Upre | 20,342 20,342 0
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oRN2YIIE BBRS 400
osEXFE ZHl AtB 22| 2,700
OAAEE SXHI 1,150
OFTZAD| 22l 200,0002 +25] 400
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